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Algorithm1: eDLA-based algorithm for finding optimal
stochastic sub-graph

Input: Stochastic Graph G= (V, E, W); veV Special node
(root); Ky, Py

Output: Induced Graph

1: K=0;

2: Let S denotes the constructed Graph and W denotes
its weight

3: Begin

4: Assign an automaton to each node of graph and
construct eDLA

5: Initialize all LA in eDLA (set activity state of v to
active and others to passive);

6: Repeat

7: S=¢; Ws=0; P=1;

8: Repeat

9: A, =Fire (eDLA);

10: a=selectaction (A);

11: S=S + edge (A, a);

12: W= Ws + weight (A, a);
13: Until (A; 20)

14: K=K+1;

15: evaluate (eDLA, Threshold, K);
16: Threshold=Update (Threshold,K);
17: P=MNp(A.,a,)=Mp(m,n) %(m,n)eW
18: Until K<K; or P< P

19: End
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